


Determine the Transmission Vector Explanation:

Each set of clues begins at the number on the cube and then travels either down or to the right.

Each clue set makes a complete loop around the cube.

The answers to the clues overlap each other by 2 letters. For example geoloGY GYmanST STead.

Once the clues are solved for the and entered into the cube there will be 8 letters that match where
the lines meet up on the sides of the cube.

These eight letters spell out either songbird or bird song. Either answer is acceptable and they both
work with the meta puzzle.

1)

« Gymnast
. Stead

+ Adieus

. usage

- geology

2)

- against
« steam
- ambled
- edo

- dopiest
. stead

3)

. renal

. alas

- asch

- charade
- den

- encore
. rey

. eyre

1)

* Athlete who uses the uneven
bars

+ “Stand in good ___.” (idiom)
* French good-byes

« Grammar book subject

+ Study of the Earth

2)

* Not for

» Water vapor

« Leisurely strolled

+ Old name for Toyko

+ Most foolish

+ One way to go to a dance

3)

* Related to the kidneys

» Word used to express
unhappiness, in Shakespeare

« Social psychology pioneer
famous for creating conformity

experiences during the 1950’s.

+ Audrey Hepburn and Cary
Grant movie about romance
and suspense in Paris.

* A bear’s lair

+ Bonus songs at the end of a

concert

* Lana Del or Mysterio

« Bronté heroine

4)

. gist

- stickier
« erode
- deca

. calico
- corgi

5)

« manila
. lab

- abate

. tea

- eagle

. lech

» chose
« sem

- emma

6)

» rehab

- abridged
- educate
. tenth

- there

4)

Essence of an argument

More adhesive

Wear away, as with water
Penta- doubled

Type of cat

The Queen’s favorite dog breed

3)
« A folder type

Where science experiments are done
Subside

« A drink with jam and bread

Highest rank in Boy Scouts
Dirty old man

Picked

Part of a school yr. (abbr)

« Austen heroine

6)

Treatment center for addiction
Reduced the length of a book
Provide training or schooling
Tin wedding anniversary

“ will be blood”



